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Question: 1

Given z,=3+2i and z, =4-5i then z +z, is equal to:

a) 4i by 4 c) 22 d 7+7i e) 7-3i
Question: 2

Given (x+4)+(3+y)i=5+2i then:

x=1 and x=1 and x=1 and x=1 and x=2 and

) y=-1 b) y=1 2 y=-i 9 y=i 2 y=-2
Question: 3

Given z, =3+4i and z, =4-5i then z;z, is equal to:

a) 12-20i b) 32 c) 32+i d 32-1i e) 4+5i
Question: 4

Given z, =6+8i and z, =3-4i then 4 equal to:
z

2

a) %(—14+48i) b) —14+4si

c) 2-2i d) 2+2i

e) -2
Question: 5

Which one of the following complex numbers has the greatest magnitude?

a) 3+4i b) 3-4i c) 4+3i d) 5+i e) ©6i
Question: 6

Given z, =3+4i and z, =6+hbi where be R, if Im(zz,)=0 thenb is equal to:

a) -4 b) 4i c) 8 d -8 e) -2
Question: 7

Given z, =5-12i and z, =7+ 24i which one of the following statements is true?

a) |Zl|>|22| by Z=-7
o [z]>zZ)] d |z]>z7,
L_z
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Question: 8

If <9-+40i =a+bi where a and b are non-zero real numbers, the respective values of a and b

are:

a) 5and4 b) 4and5 ¢) 3and 2410 d) 5and-4 e) 4and-5
Question: 9

If p(z)=2°-14z+50 and p(z)=0 thenz =

a) z=4=7i b) z=-7+i

c) z=T+=i d z=6or z=8

e) No solutions (Since A<0)

Question: 10
The solutions to 2z° +8=0 are:
a) z=-2 b) z==2i
c) z=4 d) z=H4i

e) None of the above
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